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QUESTION 1

Which two statements are true about 64 QAM modulation in the downlink direction? (Choose two.) 

A. The usage of 64 QAM is not dependent on radio channel quality. 

B. The usage of 64 QAM is UE dependent. 

C. The spectral efficiency of 64 QAM is higher than QPSK in strong radio conditions. 

D. The spectral efficiency of 64 QAM is lower than QPSK in strong radio conditions. 

Correct Answer: BC 

 

QUESTION 2

Using a cell optimization tool, you detect a sector that takes a large amount of traffic from a distant location that is
covered by other sites and is also outside of the coverage predicted for this sector. 

Which physical optimization action should you perform first In this situation? 

A. Increase the antenna height and verify the result. 

B. Install TMA and verify the result. 

C. Downtilt the antenna and verify the result. 

D. Increase the transmit power and verify the result. 

Correct Answer: C 

 

QUESTION 3

Which KPI must be captured in a drive test with TEMS to review VoLTE accessibility? 

A. Call Setup Success Rate 

B. Handover Success Rate 

C. Call Drop Rate 

D. Voice Quality 

Correct Answer: A 

 

QUESTION 4

Which two interfaces are part of a standalone 5G New Radio (NR) architecture? (Choose two.) 
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A. X2 

B. N2 

C. N3 

D. SI 

Correct Answer: D 

 

QUESTION 5

Review the exhibit. 

Cell A has neighbor relations with cells B and C which share the same frequency and PCI. Cells B and C do not share
any overlapping area. 

Referring to the exhibit which statement is correct? 

A. Handover performance of cell A is affected. 
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B. There is no degraded performance expected in any of the cells. 

C. Handover performance of cell C is affected. 

D. Handover performance of cell B is affected. 

Correct Answer: A 
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